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Sample Paper – 2008

Class – X

Subject – Mathematics
All questions are compulsory
SECTION A ( Each question carries 1 mark)

1. By using Euclidian algorithm find the H.C.F. of 365 and 125.

2. For what value of k the following system of linear equation has many solutions:

      2x + ky = 10; 4x – 3y = 10k + 5

3. Following is the graph of the polynomial y = p(x).Find the zeros of  p(x). 
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4. Which of the following are terminating decimals?
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5. If 
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( PQR and area of (ABC is 225 cm2. AB= 10 cm, PQ = 15cm,  

    find the length of PQ.

6. If the mean of 100 observations is 35. Later on it was observed that two  

    numbers were copied wrong such that 35 as 53 and 82 as 28. Find the correct  

    mean.

7. Find the coordinates of the centroid of a Triangle whose vertices are (4,5),

      (6,7) and (2, 4).

8. If tan A = 
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, find the value of Sin A + Cos A.

9. Radius of a circle is 8 cm. A point P is 17 cm away from the centre of this  

    circle. What will be the length of the tangent drawn from this point P to the  

    circle.

10. If sin 3θ =1 then what is the value of tan θ?  

SECTION B     (Each question carries 2 marks)

11. Prove that the points ( 2,3), (4, 5) and (-4,6) are the vertices of a right angled   

      triangle.

12. Using the quadratic formula, solve the equation:
       a2b2 x2 – (4b4 – 3 a4)x – 12a2b2 =0
13.In the figure, tangents AP and AQ are drawn to a circle, with centre O from an    
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     external point A. Prove that  
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14. Simplify : (1 + tan2[image: image11.png]


 )(1 - sin[image: image12.png]


 )(1 + sin[image: image13.png]


 )

15. The diagram shows the graph of y = x2 – 2x – 8. The graph crosses the    

      x-axis at the point A, and has a vertex at B.
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(a)
Factorise:  x2 – 2x – 8.

(b)
Write down the coordinates of each of these points

(i)
A;                (ii)  
B.

SECTION C  ( Each question carries 3 marks)

16. Find the ratio in which the point (x, 1) divides the line joining the points (7,-2)  

       and (-5, 6). Also find the value of x.

         OR,

       Prove that the point (3,3) is the centre of the circle passing through the   

       points (6,2), (0,4) and (4,6). Also find its radius.

17.Two equal rectangles are intersecting each other 

     in a circular field. If the dimensions of 

     Rectangular courts are 20 m x 10 sm.

     Find the area of the shaded region.

18.  Solve for the following system of equations graphically:
       2x + y - 3 = 0
       2x - 3y - 7 = 0

19.  A man has only 20 paise coins and 25 paise coins in his purse. If he has 50  

       coins in all totaling Rs. 11.25, how many coins of each does he have?

         OR

       A  train travels  360 km at a uniform speed .If the speed had  been 5 km ∕h      

      more, it would    have taken  1 hour less for the same journey.  Find the    

      speed    of the train.
 20. The diameter of a sphere is 42 cm. It is melted and drawn into a cylindrical   

       wire of 28 cm diameter. Find the length of the wire. 
21. Find the sum of 51 terms of an A.P. whose second and third terms are 14  

      and 18 respectively.
22. Through the mid-point M of the side CD of a parallelogram ABCD, the line   

      BM is drawn intersecting AC in L and AD produced in E. Prove that:

      EL = 2BL.

23. If -5 is a root of the quadratic equation 2x2 + px-15=0 and the quadratic   

      equation  p(x2+x)+k=0 has equal roots, find the value of k.
24. Construct a circle of radius 3 cm. Draw tangent to this circle through any   

       point on its circumference, without using the centre of the circle.

25. Tickets numbered from 1 to 35 are mixed thoroughly and a ticket is drawn.  

      What is the probability of  getting a number :which is odd? 

1. divisible by 5 or 7? 

2. neither divisible by 5 nor by 7? 

3. a prime number 

4. a perfect square?
SECTION D    (Each question carries 6 marks)

26. From the top of a building 12 m high, the angle of elevation of the top of a 
      tower is found to be 300. From the bottom of the same building, the angle of  

      elevation of the top of the tower is found to be 600. Determine the height of   

      the tower and the distance between the tower and the building.
27. A tent in the form of a right circular cylinder up to a height of 3 m and conical  

      above it. The total height of the tent is 13.5 m and the radius of its base is 14  

      m. Find the cost of the cloth required to make the tent at the rate of Rs. 80  

      per m2.

OR

    A right triangle, whose two smaller sides are 15 cm and 20 cm, is made to  

    revolve about its hypotenuse. Find the volume and the surface area of the  

    double cone so formed. ( Use π = 3.14).
28. 4 men and 4 boys can do a piece of work in 3 days, while 2 men and 5 boys  

      can finish it in 4 days. How long would it take 1 boy to do it? How long would  

      it take 1 man to do it?
29. State and prove the converse of Pythagoras theorem. Using this, prove the 
      following:

      In ∆PQR,QM ┴PR and PR2-PQ2 =QR2. Prove that QM2 =PM.MR.

OR,

      State and prove “ Thales Theorem”.

       Using this theorem, prove the diagonals of a trapezium intersect each other  

       in the same ratio. 

30. If the mean of the following data is 52, find the missing frequency:

	Wages: (In Rs.) 
	10-20 
	20-30
	30-40
	40-50
	50-60
	60-70 
	70-80

	No. of Workers 
	5
	3
	4
	-
	2
	6
	13


       Also construct a cumulative frequency curve and find the median from the graph.
ALL THE BEST
The starting point of all achievement is desire.
Keep this constantly in mind.
Weak desire brings weak results,
just as a small amount of fire
makes a small amount of heat. 
-- Napoleon Hill -- 

“IF YOU REST, YOU RUST.”               
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